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1.1 BEERE 2184
T4 - /5 31 B - Tk By — e
8T TFTET &t
BREET
MTEISET EEI#E (887U - $HbHELE 5| 438 1
ERBEIE m® 0. 082 0.082
BT LY - SEbERE & 1B 1
ERBEIE m° 0.012 0.012
REEET T m” 14 26 40
BRMER m? 14 26 40
REEEM 2 IE L 4 9 13




1.2 BRMEI (LHI)

1.2.1 BrEEET
LRI MERKEEERRSL YEE

MWEBIE@HFH7 LY - BEHhHELE A7)

N = 1
) fEEmR
A= 082

QEAEIE (t= 10 om: #5%E)
WREIEEHM : RUT—E AV FEILAIL
V= 08 x 010

0.82 m

0.082 m°
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1450 7R v & R #B) 5500 (FR i ¥5 &B)
(M EImEE
Em| (hE)
Al = 0.400 x 3.000 = 1.20m
A2=( 0.420 + 0320 ) x 0.50 x 3.000 = 11w
A3 = 0.350 x 2.300 = 0.81m
T
M= 1.500 x 1.450 = 218 m
A5 = 1.500 x 5.500 = 8.25m
At 13.55 m’
TihAn g
A = 13.55 =  13.6m
EEMER
A = 13.55 =  13.6m
(2) igétﬁi =P IJL
W= 1355 x 0.33 = 45 L
iﬁali
BEEE

(L/m?)



1.3 BRMEEI (THI)

1.3.1 MTEEET
THIHERMEEERESYEE

(WEBIE@EFH7 Ly - SEMhE0E H#)
N = 1

) EEmE
A= 012

QIEREIE (t= 10 om: #¥E)
WTEISEM . RUT—tE AV FEILEIL
V= 012 x 0.10

0.012 m’




1.3.2 REEERT
TRIIHER K YEE

(M EImEiE
DAIFES
FE
Al = 1.500 x (
A2 = 1.500 x (

{8

5.500
1. 450

A3 = 0.250 x 2.300

Ad = ( 0.400 + 0.600

x 2
2) 245 &
1IEm|
Al = 1.500 x (

A2 = 1.500 x (

{8

A3 = ( 0.500 + 0.140
Ad = 0.300 x 1.500 + 0.200 x 0.200
AS = ( 0.870 + 0.510

fELEESE

1. 450
5.500

A= 1282 + 13.04

REERM
BUES

0.33

(L/m?)

X X

8.87 m?
1.82 m?

0.58 m?

1.55 m?

12. 82 m?

1.90 m?
8.83 m?

0.58 m?
0.49 m?
1.24 m?

13. 04 m?

25. 86 m’

25.9 m’

25.9 m’

8.5 L




§1. fgT

1.1 BEERE £ 186
T8 - 185 7 i - ik B — . BE
8T TFTET &t
BREET
VUSRI EEIALR| TAEH 0. 4MPalLTF i 1
EXEIE | QUEINIE0. 2~1. 0mmki | m 2.3 0.5 2.8
EAM IRF BB EAM kg 0.06 0.01 0.07
o—IL# IRFOBERS—ILH kg 0.3 0.06 0.4
EEEARZE 0. 30m/{&@ e 8 2 10
BTEISET EEI#E |887LY - $HbHELE 5| 438 1
ERBEIE m° 0.20 0.20
BT LY - SkEMERE & 1B 1
EREIE m® 0.14 0.14
REEET TR m” 16 21 37
BRMER m? 16 21 37
REEEM 2 IVE L 5 7 12




1.2 s (L8I)

1.2.1 DUEINAEET
EMIFHEHVVINERLYETE

VD UEINIE (0. 2~1. OmmkiF)

VDUEINEAMES R
%o = ZEE ([OUVENES| FAMELEE | ORE FAE
= Wmm) | L(m) H (m) y (kg/m3) |a (15%) | W-L-H- 7 - a (kg)
T
c1 | 0.20 [ 2.30 0.10 1130 1.15 0. 060
ast| — 2.30 — — — 0. 060
(MWEEEAIECEAES 0. 4MPallTF)
N= 1 = 1 B
Q) ERETE (ODUEINHE0. 2~1. OmmK i)
L = 230 VDUV EINEAMESREY = 230 m
Q) EAM (ERMIER T ARX BT AH)
W = 0.060 VDUV EINEAMESREY = 0.060 kg
@) o—IL#M (TR IBER—ILE)
W= 0002 x 0030 x 230 x 1,700 x 1.15 = 0.27 kg
U—IVE —)Lig TER — )Lkt m B @3
2mm 30mm (m) LLE 15%
(kg/m’)
G IEEEAZRE (0. 30m/{E)
N= 23 <= 030 = 8 &
REFENRE
30cmiEE
1.2.2 WTEBET
LTEHIFEERFEEERELIVETE
MEBIE BBy LY - S5irHELE )
N= 1 = 1 B
(2) B1Em*E
A= 002 + 1.99 = 201 w
QERETE (t= 10 om: #5FE)
WIEBEM : RUT—t A2 FEILEIL
V= 20 x 010 = 0.201 mw




1.2.3 REAERT

LHMIFMERLYVEE
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(HE1EER) (RCER kR &R) (R ZEB)

() e TEHE
fam (thE)
Al = 0.150 x 4.560 = 0.68m
A2= 0.150 x ( 4.860 + 4.560 ) x 0.50 = 07w
A3 = 0.400 x 4.860 — 0.200 x 0.300 = 1.88n
M= 0.500 x 2150 = 1.08n
HI'F
A5 = ( 0.550 + 1.160 ) x 0.50 x 1.390 = 1.19n
A6 = 2.770 x 1.160 x 0.50 = 16t
AT = 1.200 x 4.420 = 530n
A8 = 1.400 x 2.680 = 375
A9 = 0.160 x 1.510 = 024n
&t 16. 44 m’
TihinE
A = 16.44 = 164w
BBRMER
A= 16.44 = 16.4m
2) REFRHM
W= 1644 x 0.33 = 541
RAERM
HuEE

(L/m?)



1.3 BRMELT (THI)

1.3.1 VDUEINMEET
THIFHENVOVINERLYERE

VD UEINIEE (0. 2~ 1. OmmK 535)

VUEINEAMERT R
=s & ERE |VUVEINERS| FAMEE | ORE FAE
W(mm) | L(m) H (m) v (kg/m3) |a (15%) | W-L-H- 7 - a (kg)
A2FEH
C1 0.20 0.50 0.10 1130 1.15 0.013
it — 0.50 — — — 0.013

(WEEZFATECGEAEA 0. 4MPaLLT)
N= 1 = 1 %

(2) EAETE (VDU EINIRO. 2~ 1. OmmK j7)
L = 0.50 OV EINEAMEESREY = 050 m

Q) EAM (X RFHER T RE DT AHM)
W = 0.013 - DUEINEAMES RS Y = 0.013 kg

4) =M (TRF HIER D —ILH)

W= 0002 x 0030 x 050 x 1,700 x 1.15 = 0.059 kg
—ILE o —LiE ZEE O—IL# m] @3
2mm 30mm (m) tbE 15%
(kg/m)

O EEEAZRE (0. 30m/&)
N= 05 -+ 030 = 2 &

B
30cmiZE

1.3.2 BEEET
THIMERFEEERELVETE

MEEIE @7 LY - SEbhELE H#)

N= 1 = 1 B
Q) 1&EmiE
A= 050 4+ 0093 = 1.43

QEREIE (t= 10 cm: #FE)
WEBSEM . RUT—t A2 FEILEIL
V= 143 x 010 = 0143



1.3.3 REERT
THIMERKYEE

M EIEE
DAIESR
IEmE
A= 1.200 x ( 2.840 + 2.950 ) x 0.50 = 3.47m
A2= 1.200 x ( 4.530 + 5.000 ) x 0.50 = 572m

BmE
fmME  1.320 + 1.200 = 1.100

A3=( 2040 x 2000 — 1.200 x 1.400

+ 0.150 x 0.150 x 2 ) x 1.100 =  269m
At 11. 88 m?
D)A2EE
EmH
A= 1.200 x ( 4.320 + 4.650 ) x 0.50 = 5238m
A2= 1.200 x ( 2510 + 2.700 ) x 0.50 = 313w
{8lE
A3=( 0.120 + 0.200 ) x 0.50 x 1.580 = 0.25m
M= 1200 x 0.230 = 0.28m’
A5 = 0.150 x 1.200 x 0.50 = 0.09m
A5t 9.13 m’
EIEESE
A= 11.88 4+ 9.13 = 21.01 m
T ih L8
A = 21.01 =  21.0m
SRMER
A = 21.01 =  21.0m
Q) EXEEEM
W= 21.01 x 0.33 = 69 L

REEEM
BuEE
(L/mP)



